46

Power Module Assembly Parts List

Item

—

o o0~ W DN

Description

Power Module Assembly

CO-ox Neon Board Assembly
CO-ox lllumination Housing Assembly
Frame, Power Module

PCB, Rear Interconnect

Standoff, HEX 4-40 X 3/16 Long
Power Supply 130W CONT 165W PK
Screw 6-32 X 1/4 Long

Module, Power Entry with Switch
Fan, Cooling

Screw, Phillips, Pan-head 6-32 X 1/4
Nut, KEP 6-32 SCP

Strip, Contact

Fuse, 5 X 20 MM

Coupler, Modular In-line

Cord, Patch

Gasket, EMI

Screw, SEMS 4-40 X 1/4

Grommet

Hard Drive, Programmed (RP400)
Hard Drive, Programmed (RP405)
Cable, Hard Drive

Screw, Shoulder

Screw, Shoulder, Metric

Filter, Ferrite 1770HM

Spacer, Nylon

Clip, EMI

Ty-wrap

Manufacturing Service Part

Part Number

100064
102456
823081026
570241
823810043
100376
100053
823810205
823737005
101802
105836
105886
119114
855015001
823810023
106036
106446
132134
570257
109090
109256
116534
109433
122155
117457

Number
122560
131526
131529

126786

122552

122547
122533

126793

122535
04020470
126789

RAPIDPoint 500

DPBG-B03.850.04.01.02 Page 46 of 52

09.11 HDX GPS D

© Siemens, 2011
For internal use only



